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It was the French Lieutenant Pierre-Francois Bouchard, not Napoleon Bonaparte,

that first found the Rosetta stone.
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A The sole mission of the scientists Napoleon Bonaparte brought with him was

to study ancient monuments, not to engage in the war itself.
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Exercise A Sample Reading Test {Passage 2)

CRACKING THE CODE

Questions 1-5

Do the following statements agree with information given in the Reading passage?

In boxes 1-4 on your answer sheet, write

True if the statement agrees with the information
False if the statement contradicts the information
Not given if there is no information on this

1
Even though hieroglyphs were easily found in Egypt, no one could understand them
until quite recently.

2
Napoleon Bonaparte was the commander of the French military that invaded Egypt in
1798.

3
It was the French Lieutenant Pierre-Francois Bouchard, not Napoleon Bonaparte, that
first found the Rosetta stone.

4
The scripts on the Rosetta stone were engraved on the stone in AD197.

5
Ptolemy V considered major temples to have more influence than minor ones.
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Exercise A Sample Reading Test {Passage 2) Multiple choice
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CRACKING THE CODE

Questions 15-18
Choose the correct letter, A, B, or C.

15 Which of the following best describes why it took so long to decipher hieroglyphic
writings?
A They were hard to find as most of the artefacts containing hieroglyphic writings
were not well-preserved.
B The initial linguistic categorisation of the writing system was inaccurate.
C The scholars working on the subject were not talented enough.

16 Which of the following is NOT mentioned in the passage?

A The sole mission of the scientists Napoleon Bonaparte brought with him was to
study ancient monuments, not to engage in the war itself.
The Rosetta stone was buried in the ground when found.

oy}

C Lieutenant Pierre-Francois was not the first person that found the Rosetta
stone.

17 The British gained the Rosetta stone
A in the 18th century.
B towards the end of the 17th century.
C 2 years after the French.

18 Which of the following best describes Coptic?
A Coptic contained both pictograms and phonetic symbols.
B It was used by those belonging to a specific religious group.
C It became obsolete when Demotic came into use.

F 3135547 T, Passage ® & Z\ZZORMEICEE T 2 M AE T 5 0% [A¥xx=v7] L
TATLZE W, ZORIIHZFT 72N Eo TWiehZ I ATHERL, S5I125-10070 T
AEBATAELL ).

81





